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2,363 113,165 115,528
1,134 10,439 11,573
5,039,623 213,650 5,253,273
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760,820 16,839 777,659
1,000 196,811 197,811
5,039,623 213,650 5,253,273




81,445 5,117 86,562 0 0 0 5,117
5,240 84,929 90,169 0 0 0 84,929
3,498 123,604 127,102 0 0 0 123,604

5,039,623 213,650 5,253,273 0 0 0 213,650
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6 73,670 5,117 78,787 5,117 5,117
760,819 16,839 777,658
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1 1,000 196,811 197,811 196,811 196,811
1,000 196,811 197,811
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1 5,240 84,929 90,169 84,929 |24 84,929
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5,240 84,929 90,169 84,929
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1 2,363 113,165 115,528 113,165 22 113,165
113,165
22
113,165
94,854




()5 ()1
18,196
115
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1,134 10,439 11,573 10,439 27 10,439 10,439
27 10,439
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1,134 10,439 11,573 10,439
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